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Question One: \SL’ 7 .

Honey Company produces two types of cars (H1 and H2) data related to the two products:

o

H1 H2
Annual production in unites - 50000 100000
DM cost | R $150000 $30G000
DLcost .. ' _ - 550000 —  $100000
DL hours 2500 5000
Machine-Hours _____ I 25000 © 50000
Number of Production runs 50 50
Inspection hours 1000 - 500 |

- Total manufacturing overhead cost of $600000 are allocated using ABC system as following:

Machining costs $375000 allocation base is mf_ichine hours )

Setup costs $120j0,00 allocation base is nungg; of production runs
Inspection cost $105000 allocation base inspection hours
Required:

1. Compute the manufacturing cost per unit using simple costing system for each product if manufacturing overhead
e s, . ! .
is allocated to direct labor cost '
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Question 1: Choose the correct onswer

1) Which of the following lead to the use of fund accounting by a goveramental organization?

Financial control Legal Restriction
a- Yas Yes
_‘?':'47-‘”
b- Yes No
c- . No No
LTI
”?é: J No Yes
iy e

2) The measurement focus of governmenial type fund is on the determination of:

Current Resources . _Financial Position .
a- Yes .- Yes
b Yes . No
.f
e Mo Mo
d- No Yes

3} The primary emphasis in accounting and reporting for governmental fund is on:
E%_Sources

b- Income ,_

r

c- Capital

d- Transfer betweean fund
° . C:.‘,y | P
4} Which of the following funds of a government unit recognizes revenue only in the .
accounting period in which they become available and measurable in their fune financial

statement: - e
fioe ' i i o A '(zf-.e;)\’* \g%@g

Y W
a- General fund JHLA s

g B




5) Sig city used the following funds for financial reneorting purposeas:
g N N A (o N Do y *
General{internal servicey girport enterprise, special revenue, pension trus?, c‘a@:tai profect, gdebt

service o kel

How many funds use the accrual basis of accounting?
@Two

e
@fhree

c- Four

d- Five

6} During the current vaar, X country levied $2,000,000 properiy tax, 1% axpected to be
uncollectable. During the year, the country collected $1,800,000 and wrote off $15,000, what
amount would country X report in its government-wide statemei?

KChee L

a- $1,800,000 (kA ]

- ‘., 2By ‘:.:{‘ ’ .
T (2 YKV ORISR
fb-B1,980,000 + 7 A7 St B A '

S . o

[ T
¢ 51,985,000 | Ly ~ 15 l

d- 52,000,000 .

- 7) Roy city received 2 gift, the principal of which is to be invested with the income used 1o
support library, in which fund should this gift be recordad?

L
a- Permanent fund
b-Investment trust fund

c-Private fund

C’?T}Special fund |
_—n’-‘{ ’



8} A country's balance in the general fund included the following:

Appropriation  §745,000 Drfad # ‘?!\ml‘

Encumbrances 37,250 - Roen At
D 332 D BT ;
Expenditure 298,000 ey ST e i L kD ;
. ™ e F g £k
"q..;z-. \‘{_u L
Voucher Payable 55,875 D "'P 2RO N ! / S
. £ £ aﬁg e
eI .
What is the remaining balancc available for use by fhe' country? t.\
a-$353,875 IE=T 3‘%'{ |
!‘t?T ’ ;L’si‘ :;és,glg.
b-5391,125
- I s
D o S37EEC
c-$409,750 P | oL Bt 337600
@S447,0DO R D, . (_',";\(‘{:,. E'_Cigj’{g,.. -
P ig'

9} Veity adopts a cas!r1 bas;s budget what basis should be used in budg_eaag comparison?

,...k? ‘ . f}L‘L— ;“,-ng_l:' é}'n——)’k“‘

a-Cash C_»}Z‘Vé povdim Meciebi i
]

b-Modified LH 5 l

c-Accrual

d-Modified

10} The estimatad revanue control account of a government unit is debited when:

a-Actual revenue is recorded

h-Actual revenue is collected :

(};—'?B udget is recorded
_>‘)

d-Budget is closed



11) To record the $20,000 budgeted excess of estimated revenue over apprepriation, this
district should: D5 Cxrfevd Zopuot R
3

a-Credit estimated excess ravenue control
b-Debit estimated excess revenue contral
@Eredit Budgetary fund balance
Kq-'"

d-Debit budgetary fund bafance

12) General fund expect the following inflow of resources:

D‘— e . g‘j':'. ‘_,._s—d'-}
5 . D ey 7] )
wProperty toxes and ficenses 59,000,000 : . g;‘ifri Ve j? . j -
..... S gs o LN kS I
iffzi}i@”"” Proceeds of debt issue 5,000,000 e
e : - qf g);j q'ji";{' C.é;)‘s’\ ) j _ L
_ Interfund transfer for debt service 1,000,000 ~ ' RV {,a,“%,( i ? ;v / -

R Abipe
What amount should we record for estimated revenue {not other financing sources);

_2:$9,000,000_
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¢ c%14,000,000

{/ ‘
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13) CLXFF company Issued purchase order totaling $5,000,000, which were properly charged
1o encurnbrances. CLXFF received all goods that were erdered and paid 54,500,009, What

15,000,000 4.

amount of encumbrances will be ouistanding?

@9 (820 ‘ & fry §emg o

-$300,000
7 | “ - o
¥500,000 bﬁ G_\{_{) ¥ T . |
wHp Ny S
4-5800,0C0
bﬁ E‘Z/-?‘ﬁ"4~"€ 4y S?‘d'. -



G
14) Powell aig purchased z piece of equipment to be used by a departient financed by the

et
o=

_Eeneral fund, how should Powel!l report the acquisition? O c"‘.‘;{\
' ga’a As an expenditura

;J-Capitalize, depreciation is optional

c-Capitalize, depreciation Is required

d-Capitalize, depreciation is permitted

15) Encumbrances wouldn't appear in which fund?

a- Capital o
“apital .
— b .
. jE
h-Special revenue
]
c-General .~ - Eig
. ’.-g:_vw..:\‘ 4 a;,'J
d-Enterprise ¥~ i
'Eé.rk._:’-‘:.,a:\



Question 2: True/Foise

e e
iR Cfﬂu '

gjﬁ%’ 1 'The key yeuve of financial reporting is fopr ovide infor ma‘mn about the entity’s
i

performance. |

2_ G&NP establish the level of services that they wiil provide,  calculate their cost,
and then set tax rates and other fees to generate the revenues required to pay for the
sérvices,

Vel

3_ financiai state entShows how much will } be spent on a par‘txcuﬁav activity and what the
activity will achieve.
4_ If organizations fail to balance their budgets, and borvow to cover operating deficits,
then the cost of benefits enjoyed by the cifizens of today must be borne to those of

fomorrow. }K\

5_like business, G & NP make significant investment in assets that peither producs revenue

nor reduce expenditures.}i\

6_ G&NP nee not}to show in their financial reporis that restricted resources are
unavailable for purposes other than those specified. }{\

7_ For the purposes of internal management and control, NP may adopt a modified acerual
basis of accounting, FASB requires that they prepare their general-purpose external

reperts on a full aceruatb basis .

~DS_ maintenance e:{penditure can be easily estimated for the next yeary/

§ Funds divide the government into categories of functional depar’smems{)ﬁ\

é%mumf (’-é\ o s '
~210_endowment used tor A‘port resources provided by trust in which the earnings but not (he

principal must be usedﬂfyu;x :

i1 long term assets can be expected fo last for many years. Therefore, in the interest of
interperiod equity, they will be financed with taxes of a single year. }(\

12 Appropriation budgei which relate costs to ou%;'ars and are thereby intended fo liely™ *~ ol
control costs, especially those of business-type activities.

13 Activity: is line of work contvibuting to a function or program such as highway patrol,

crime investigation, vice patrol.

14 Object budget Proimotes up bostom budgetmg &(’“

,,,,,

(Tl
15 estimating revenue for the next year Is easier than estimaiing expendztures {



Guestion 3;

For each of the fo Towing determine just the credit grount for the fransaciion relofed io z‘»zﬂ Ee
government. ?{/} r_ﬂ (»_,, {-ﬂ
e Itiost alawsuit filed by one of its renters and was ordered to pay $1 million in damages
over 5 years. It made its first cash payment of $200,000.
/)a leoSut éﬂi‘)‘&:f el s%{;'ﬂ*é : sz}(ffz&," ‘
«,r; ,_Wﬂéf#ﬂ;f
s The Authority issues $2.5 million in long-term bonds.
D} ' CHT}‘,'\ 2 ‘;ﬁlwﬂ_’— - m—-——z
£ P%J’ (e 4,;:_\ {w"* Wi Pensa 25 )
S o g et
Y
e  at the start of year two, the university had $3,000 of outstanding commitments for
repairs. '
o " e f\,-..
D Ditumiorates r,_}*ff_f,:__._,_.ﬂ.u,ﬂ«.7 e
’ %;:‘L';} . a,ﬁif;;."ifﬁ"f*’.‘“’&l'-%;"“v Cj Al f. 1””51?;3;
o it adopts a budget calling for total revenues of S400 m and total expenditura of $390 m.
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